
Math 1313 - Extra Problems Ch3

1. Solve for the unknowns.

2

 4 x
y −1
−4 3

 − 3

 4 2
−6 −7
z −2

 = −4

 1 −3
5 5t
−4 −3



2. Given the linear system of equations. How would you set up using the coefficient
matrix to solve the system?

4x− 7y = 11
6x + 9x = −5
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3. Find the inverse of the matrix, if possible. 5 3 −2
7 −4 8
−3 1 9


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4. Find the inverse of the matrix, if possible. 5 3 −2
7 −4 8
−3 1 9



(a)

 9 −3 2
−7 4 −8
3 −1 5


(b)

 47
471

29
471

−16
471

29
157

−13
157

18
157

5
471

14
471

41
471


(c)

 −47
471

29
471

16
471

29
157

−13
157

−18
157

−5
471

14
471

−41
471


(d)

 1
5

1
7

1
3

1
3

1
4

1
1
2

1
8

1
9



3


